
76.  Question:  

Reference Section M – Evaluation Factors for Award: The Government has stated that Price evaluation will be based on the sum of the maximum quantity for all CLINs to include all options.  Can the Government please clarify which quantity range unit price the “maximum quantity” will be multiplied against for each CLIN.  

For example: CLIN 0001AA currently contains three (3) quantity ranges.  It is likely that, based on quantity, each range will contain a different unit price.  When calculating the total price for CLIN 0001AA, will the Government use the unit price contained in quantity range 1-10, 11-25 or 26-50?  Or, will the Government use an average of the three ranges?

Please clarify.

Answer:  

See Answer 45.

